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QUESTION 1

Restricting access to systems/applications based on time is part of which Triple-A security cornerstone? 

A. Accounting 

B. Application 

C. Authentication 

D. Authorization 

Correct Answer: D 

 

QUESTION 2

What is a main benefit of a Thin Client? 

A. Access to unauthorized web sites can be locked. 

B. Access to web applications can easily be restricted. 

C. Users can log in from a n y location. 

D. Users cannot install unauthorized or risky software. 

Correct Answer: D 

 

QUESTION 3

How might moving to the Cloud have a negative impact on users? 

A. Development is no longer in house and may take longer to be performed. 

B. Software licensing is no longer part of operations. 

C. Support and maintenance are no longer in house and may take longer to be performed. 

D. Uptimes can be guaranteed but not adjusted in a flexible manner. 

Correct Answer: A 

 

QUESTION 4

Where does the abbreviation SOA stand for? 

A. Service Oriented Architecture 

B. Service Oriented Application 
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C. Service Organized Architecture 

D. Service Organization Agency 

Correct Answer: A 

 

QUESTION 5

Why is text messaging in automobiles outlawed in many countries? 

A. for financial reasons 

B. for safety reasons 

C. for security reasons 

D. for synchronization reasons 

Correct Answer: B 
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